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Ea_sB 
Va = 375 250 300 V. 
V~2 = 1 , ~ ...- 250 200 
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V. 

-
Ia = 24 76 53 mA. 
Ig2 = 0,7-1,8 5,4-7,2 3-4,6 mA. 

Ra = 14.000 2.500 4.500 ~2 
d% (tot) = 9 10 11 
Wo(max) = 4 6,5 6,5 Wtt. 
Rk = 365 170 220 ~~ 

ZaiMa 
■ 

~i~~:~ 
J'i■• ✓ -E •300 Y~ 

" 
•~■■ 

B~N~ .o 
~i■~i~1~~~~~~~~~ 

e~~Cii~~~~~~~~ 
~l.~w~~~~~~~~~~ 

a 



6L6 
6 L 6-G 

~L~ 
6 L 6-G 

E,-FB 

Va = 375 250 300 375 V. 
Vg2 = 125 250 200 250 V. 
Vgl _ —9 —14 —12,5 —17,5 V. 
Ia = 25 75 52 62 mA. 
Ig2 = 0,7-2 5-7,3 2,5-4,7 2,5-6 mA. 
Ra = 14.000 2.500 4.500 4.000 S? 
d%, (tot) 9 10 1 1 14,5 
Wo = 4,2 6,5 6,5 11,5 Wtt. 

PUSH-PULL - A 

FB SB 
Va = 250 250 V. 
Vg2 = 250 250 V. 
Vgi = —16 — V. 
Rk = — 125 
Ia = 120-140 120-130 mA. 
Ig2 = 10-16 10-15 mA. , 
Ra = 5.000 5.000 S2 
d%(tot) = 2 2 

~ Wo = 14,5 13~ Wtt. 
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PUSH-PULL - AB1

SB FB 
— 400 400 400 400 V. 
= 250 300 250 300 V. 
_ — — —20 —25 V. 
= 190 200 — — ~ 2 

Ia = 96-110 112- 128 88-124 102-152 mA. 
Ig2 = 4,6-10,8 7-16 4-12 6-17 mA. 
Ra = 8.500 6.600 8.500 6.600 
d ";, = 2 2 2 2 
Wo = 24 32 26,5 34 Wtt. 

PUSH-PULL - AB~ 
Va = 400 400 V. 
Vg2 = 250 V. 
Vgl _ 

_300 
—20 —25 V. 

la = 88-168 mA. 
Ig2 = 

__102-230 
4-13 6-20 mA. 

Ra = 6.000 3.800 IZ 
Wo = 40 60 Wtt. 
Rk = 190 200 f3 
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